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SXAEIA D 70,655,272 67,975,035 2,680,237
= 44,605,589
J| 82,527
Al 21,222,558
T 4,744,598
Lo =X s 33,396,360 33,398,370 A2,010
= 23,975,030
J| 13,727
Al 7,345,995
- 2,061,608
Lsdz NAZs 33,396,360 33,398,370 A2,010
= 23,975,030
J| 13,727
Al 7,345,995
- 2,061,608
CLoEXa 2HH(EXAY) 474,000 447,000 27,000
Al 331,800
- 142,200
307 gl2tol & 474,000 447,000 27,000
Al 331,800
- 142,200
10 ALl SXAIEEE2EH EX 474,000 447,000 27,000
O kLel=EXa 23l 474,000
Al 331,800
- 142,200
Lol HASK+L(EZAY) 20,880 22,080 A 1,200
Al 20,880
307 glz2+ol & 20,880 22,080 A1,200
Al 20,880
10 ALSISXAIEEE2EH EX 20,880 22,080 A 1,200
LosXa AN 20,880
Al 20,880
Losxa BEYEHS AL (EZAY) 20,000 20,000 0
Al 20,000
307 21201 A 20,000 20,000 0
Al 20,000
11T MISXASEEX 20,000 20,000 0
O Lo=Xa Z2Eads A 20,000
Al 20,000
Lol=ER2 2HAE 15,000 15,000 0
307 21201 A 15,000 15,000 0
10 ALl SXNAIEEE2EH EX 15,000 15,000 0
O s 249H X& 15,000
Lol 29 62,044 0 62,044
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2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
— 3 E JANE2E AR
70,000,000 * 1JH A 70,000
—201s S =80 B2 U=
60,000,000 * 1JH 2 60,000
02 =224l 80 80 0
O1. 3323 % HA 80
—ISFRY BARMRLD
80,000 = 1JH 24 80
203 ¥ S =&l 700 700 0
03 Al =AY R =&Y 700 700 0
O Lolgie ANMER 42EAY| 700
301 et d s 114,800 111,800 3,000
01 MEI2EZE+05l= 114,800 111,800 3,000
O Z24 2g4l XN 94,800
— 234l XN& 100,000 » 799H A » 12& 94,800
O0ld & an Z22E 2357Y XN
5,000,000 * 204 A& 10,000
OJIE&E 32Y 237 NE 10,000
307 21201 A 17,265 2,730 14,535
03 QIAHMNHE2IHIEE 8,000 0 8,000
O tgtcelsl =g X3s 2Ed X2 8,000
11T ALS S RAEE = 9,265 2,730 6,535
Lo E K& 35,000 * 7904 A& 2,765
O Ut =g932X3 LesXAY X 6,500
401 AIEHI L 2 CHYI 30,000 30,000 0
01 A& Bl 30,000 30,000 0
O 3Z2E MHE=HI 3,000,000 * 109H £ 30,000
F2Y =SS AY 75,000 0 75,000
401 Al HI K 201 I 75,000 0 75,000
01 A& HI 75,000 0 75,000
O #2I3=LdOIEZeY) MY 75,000
oEs 424 Old(EXAY) 350,000 0 350,000
Al 200,000
T 150,000
401 Al HIZ 201 8] 350,000 0 350,000
Al 200,000
T 150,000
01 A& HI 350,000 0 350,000
O &ot=s 22 0l&HY & HE=+ 350,000
Al 200,000
- 150,000
22 22l e X2 (EXAY) 148,600 144,400 4,200




2AMd: SAAMYAD
M Lol=x B
Sl mRaE (AL EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 118,880
T 29,720
301 et a = 148,600 144,400 4,200
Al 118,880
T 29,720
01 MEIBZE 2053 148,600 144,400 4,200
22 2FH HH&H XA 148,600
— 244 100,000 * 799H A = 12& 94,800
Al 75,840
T 18,960
— S (7900 &, 300 ) 53,800
Al 43,040
- 10,760
d2Y SZMEAL (BT AY) 8,000 8,000 0
Al 4,000
- 4,000
401 AIEHIZ 28I 8,000 8,000 0
Al 4,000
- 4,000
01 A& Hl 8,000 8,000 0
O 32E SAMLAEY 4,000,000 * 20H 4 8,000
Al 4,000
T 4,000
d2g T2 A X(BEXZAY) 25,830 25,830 0
Al 12,915
- 12,915
307 glz2tol & 25,830 25,830 0
Al 12,915
- 12,915
11T M SXASEX 25,830 25,830 0
O Zd2Y Zz8 ZelX BiXIAY 25,830
Al 12,915
- 12,915
POELOIMNU SEAZZ KNI (ETAY) 78,800 78,800 0
Al 78,800
301 et A= 78,800 78,800 0
Al 78,800
01 MEIBEE 2053 78,800 78,800 0
O RAELUNN BERZ=2 K&
50,000 » 788% * 23| 78,800
Al 78,800
YE J2YAR (BT AY) 4,740 4,680 60
Al 1,975
T 2,765
301 et a = 4,740 4,680 60
Al 1,975




2AMd: SAAMYAD
M L=l EX
S LEME N2 CERED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
- 2,765
01 MEIBEE 263 4,740 4,680 60
O &82 32E A2 30,000 * 790H A& 2,370
O =42 32E A2 30,000 * 799H A& 2,370
Al 1,975
- 395
d2Y SY ey NAANG(BEAY) 115,500 0 115,500
= 28,875
Al 75,401
T 11,224
301 L2 A S 115,500 0 115,500
= 28,875
Al 75,401
T 11,224
01 MEIBZE 2063 115,500 0 115,500
O 32E S¢ tHgdl NI MY 115,500
= 28,875
Al 75,401
- 11,224
dzY s9 HdeH NAANG(BEZAY) 7,700 0 7,700
= 1,925
Al 5,775
301 et A3z 7,700 0 7,700
= 1,925
Al 5,775
01 MI28E+06l= 7,700 0 7,700
O 224 SE il NI AMY 7,700
= 1,925
Al 5,775
d2Y 234 NIAMG(EZAY) 22,739 0 22,739
= 5,291
Al 8,724
- 8,724
301 g2 L= 22,739 0 22,739
= 5,291
Al 8,724
T 8,724
01 MEI2EZE+06l= 22,739 0 22,739
22Y 234l XA 22,739
= 5,291
Al 8,724
- 8,724
CLOoSENMEIAANG(BEAY) 677,150 643, 166 33,984
= 474,005
Al 203,145
307 21201 A 677,150 643, 166 33,984




EX: 22X ABIAD
2 o=y =&
S SME XA (&2 &)
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
= 474,005
Al 203,145
05 A2t &= 369,734 386,521 N 16,787
O FEAMHIA 359,856
= 251,899
Al 107,957
O SIIJFAFAHIA (179H) 9,878
= 6,915
Al 2,963
11 A SEXNAEE X 307,416 256,645 50,771
O JIEMdlA 307,416
— 22 A ¥ S20| oAHH,2HH S(26 307,416
= 215,191
Al 92,225
Mot S XN AL 2B (EZALY) 146,000 146,000 0
Al 146,000
307 QI2t0| & 146,000 146,000 0
Al 146,000
10 Al SEXAIEEE2IHIBX 146,000 146,000 0
O Mt SXAIE 23|
73,000,000 * 2J0 2 146,000
Al 146,000
COIEXAE 23X MASH(EXZAY) 166,173 145,273 20,900
= 149,556
Al 16,617
301 LBt A= 166,173 145,273 20,900
= 149,556
Al 16,617
01 MBI EEE G2 166,173 145,273 20,900
O LosIAE =21 H4A30 166,173
= 149,556
Al 16,617
LOEXANE 2 EXNLH(BEXIAY) 20,500 20,500 0
Al 20,500
307 212t0| & 20,500 20,500 0
Al 20,500
10 AIRIEXAIEEHAE2IGHIEX 20,500 20,500 0
O Lo=EXAE 33 s 20,500
Al 20,500
HNAS MItLQ 22 Z2A(EXALY) 105,905 108,870 AN 2,965
Al 105,905
307 QI2t0| & 105,905 108,870 N2,965
Al 105,905
11T A EXAIEEX 105,905 108,870 N2,965
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X ZH -
L= B

el

5 - 4
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
O MAS Mool AABE
8,525,000 » 10H2 = 43| 34,100
Al 34,100
O MaAS Mot eotaE B 9,240
Al 9,240
O Z24adg 294 62,565
Al 62,565
Colna 2HHI(EXAY) 33,600 24,000 9,600
Al 24,000
- 9,600
307 glztol & 33,600 24,000 9,600
Al 24,000
- 9,600
M AMSIMNSEX 33,600 24,000 9,600
O Lolwa 29| 350,000 » 8JHA = 12 33,600
Al 24,000
- 9,600
NASHU =222 288 X 62,000 5,000 57,000
301 eetE o= 62,000 5,000 57,000
01 MBI2E X +0l3 62,000 5,000 57,000
O NASHU =208 288 XA 62,000
I=AHZ(EXAY) 27,786,910 27,786,910 0
= 22,229,528
Al 4,445,761
- 1,111,621
301 et = 27,786,910 27,786,910 0
= 22,229,528
Al 4,445,761
- 1,111,621
01 ABIEZH 0= 27,786,910 27,786,910 0
O Jlxzd=3 27,786,910
=2 22,229,528
Al 4,445,761
- 1,111,621
ColdTtel A (BRANY) 2,164,450 2,136,940 27,510
= 1,082,225
Al 1,082,225
307 glztol & 2,164,450 2,136,940 27,510
= 1,082,225
Al 1,082,225
M AMSIMNSER 2,164,450 2,136,940 27,510
O odXtelAg 2,164,450
= 1,082,225
Al 1,082,225
LOAMIRUTE STAN BRI (BIAY) 200,000 200,000 0




2M: SXAEIAD
M Lol=x =X
SRl =RME (AL (B9 ®R)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 200,000
307 21201 A 200,000 200,000 0
Al 200,000
11 AISI S XA E X 200,000 200,000 0
O LA&EIQYEE SZAX 22 200,000
Al 200,000
ANLIEYE 2Z(EZAtY) 239,840 217,200 22,640
Al 205,340
- 34,500
307 Qi2tol & 239,840 217,200 22,640
Al 205,340
- 34,500
11 AMISIAIEE S 239,840 217,200 22,640
O AMUSgE 243l 230,000
Al 195,500
T 34,500
O AMUNHSEHSAMAEX=E 9,840
Al 9,840
SEHLUSSUHMSB0IAMS (BT ALY 27,454 24,401 3,053
| 13,727
Al 13,727
307 21201 A 27,454 24,401 3,053
| 13,727
Al 13,727
11T AISI S XA E X 27,454 24,401 3,053
O EHLQ SSAHAESE0IAY 27,454
| 13,727
Al 13,727
297 024 SEEUHE X 20,000 0 20,000
307 gl2tol & 20,000 0 20,000
04 DIZHHALALSE E X 20,000 0 20,000
O =g3 =2 s=gddia N2 20,000
LOQAANE HEAL(EZAY) 7,250 0 7,250
= 3,625
Al 3,625
402 RI2EX=20l A 7,250 0 7,250
= 3,625
Al 3,625
01 It 2 AL B X 7,250 0 7,250
O ANSHHZEX (At AAHY)
250,000 = 77K 1,750
= 875
Al 875
O ANSHHEX (A2EFAFE) 250,000 » 84 2,000
= 1,000




EA: X AHAD
M Lol=x B
e SME X2 (2 &HH)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
Al 1,000
O X 2
250,000 = 8JH 2,000
= 1,000
Al 1,000
O X SHHAE 250,000 = 24 500
= 250
Al 250
O Xt 250,000 = 24 500
= 250
Al 250
O X 250,000 = 1JH 250
= 125
Al 125
O X 250,000 = 1JH 250
- 125
Al 125
Ot= &0l Xl 10,682,811 8,487,947 2,194,864
= 5,587,668
Al 4,955,104
- 140,039
=1 Pl 2,575,514 2,611,273 N 35,759
= 762,986
Al 1,725,459
- 87,069
OSEXAMLE 4,172 2,430 1,742
201 gEt24y| 4,172 2,430 1,742
01 AP 22| H| 4,172 2,430 1,742
1. getag 4,172
-5 9 ! 70,000 * 23] 140
— X d0ls Al H aH c 2xgenl
AN == * 128 * 400 A 4,032
=20 =X & 6,120 6,120 0
203 €2 F=&d| 1,000 1,000 0
03 A HF=XAH 1,000 1,000 0
O 2% 20,000 = 50H 1,000
301 LBt A 5,120 5,120 0
01 A3l E & 5,120 5,120 0
O 0of 5,120
— 4
80,000 = 50H 4,000
-2 80,000 * 14% 1,120
SEXAE ) BEXAY 100,780 100,780 0
= 90,702
Al 10,078
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D OrSEOMASX
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X ZH
S =

S X MY A D

=7
QEE0IE AHSH

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

301 L2 A= 100,780 100,780 0
= 90,702
Al 10,078

01 ALl EE E 563 100,780 100,780 0
O OtssSXAEx=23X HAZSH(SLE) 100,780
= 90,702
Al 10,078

Ela0tEs NEEEHI(EZAY) 6,000 6,000 0
Al 6,000

301 L2 Az 6,000 6,000 0
Al 6,000

01 MEIBEE 253 6,000 6,000 0
O &a0ts HEHES 3,000,000 » 2H 6,000
Al 6,000

OlSSXAE ISS0H(SA4E) EZAY 14,483 14,483 0
= 13,036
Al 1,447

301 g2 4= 14,483 14,483 0
= 13,036
Al 1,447

01 A3l EE E 56l = 14,483 14,483 0
O OISSIAE NS30(Sad) 14,483
= 13,036
Al 1,447

OlS=EXAIE 2ZH(EXAIY) 736,162 736,162 0
Al 736,162

307 ©12+0I & 736,162 736,162 0
Al 736,162

10 M SXNANEHE2IHE=S 736,162 736,162 0
O Ots=XAIE 2| 736,162
Al 736,162

ANE0ts AESERN (EXAY) 26,565 26,565 0
Al 26,565

307 21201 A 26,565 26,565 0
Al 26,565

1A S XA E X 26,565 26,565 0
O Ots=XAE AX=SLX & 26,565
—A&0ots nSHIX& 3,525
Al 3,525
—AN&0ts E2=X& 16,000
Al 16,000
—AN&0ots =St #H X2 4,850
Al 4,850
— Al&0ts otAH =& XI& 1,250




2N
X ZH -
L= B

el

S X MY A D
otsEMe=X S8
RES0s HEFH

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 1,250
—A&E0ls SOt M K& 940
Al 940
AEAEHIIE S HJEAN(BEXZALY) 36,000 36,000 0
Al 36,000
301 dEtE A= 36,000 36,000 0
Al 36,000
01 A E & A %35 2 36,000 36,000 0
O 4284248 S NEXA
3,000,000 = 12¢¥ 36,000
Al 36,000
AGUAEIIE/AE AMEOES HSISE2Z(EXTALY) 12,500 12,500 0
Al 12,500
301 dEtE A= 12,500 12,500 0
Al 12,500
01 Ml EXE 4562 12,500 12,500 0
O 2EAEHIIERE A0S HSHSE=2 12,500
Al 12,500
N /AEHEH I (BEXAY) 192,892 192,892 0
Al 192,892
307 Q12t0| ™ 192,892 192,892 0
Al 192,892
11T A SEXAIEEX 192,892 192,892 0
O I8 d e 2Hh| 192,892,000 * 1J0 2 192,892
Al 192,892
ODEE 29 XN (EXAY) 88,426 88,426 0
= 35,370
Al 53,056
307 2I2+0 & 88,426 88,426 0
- 35,370
Al 53,056
10 Al SXAIEEE2IHIEX 88,426 88,426 0
O 18& 9 XE(2MA) 88,426
= 35,370
Al 53,056
SSMEINY HAIESHXNI(EXAY) 9,318 9,318 0
Al 9,318
307 212t0| & 9,318 9,318 0
Al 9,318
11 A SEXNAEE X 9,318 9,318 0
O SssdEId AdELHXE 9,318
-8 0ls 28X 4,426
Al 4,426
— 1182 O0ts sy XA 2,900




2N
X ZH -
L= B

el

S X MY A D
otsEMe=X S8
RES0s HEFH

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 2,900
— 188 Ots =0 &yl XA 1,560
Al 1,560
— & 0t= otAHZ=EY XN 432
Al 432
NEotsdEH XN (EXALY) 200,736 128,000 72,736
= 100,368
Al 100,368
307 QI2t0| ™ 200,736 128,000 72,736
= 100,368
Al 100,368
10 AR SXAIEEE2IHIEX 200,736 128,000 72,736
O XNEotsHE 2 X6 (40 4) 200,736
= 100,368
Al 100,368
KNEOISHE OlSE2X DA RN (EXAY) 53,000 53,760 A 760
= 26,500
Al 26,500
101 2121 d| 53,000 53,760 A T760
= 26,500
Al 26,500
04 JI2ZtH2Z2XNEE S 53,000 53,760 AT760
O XNY0lsHE OFs= X A 21 24H]
13,250,000 * 4H 53,000
= 26,500
Al 26,500
KNEOISHE ESAN HRMAHI (EXALY) 14,760 12,000 2,760
Al 14,760
307 212t0| & 14,760 12,000 2,760
Al 14,760
10 AISISEXAIEHE2IHIEX 14,760 12,000 2,760
O XNYGOotsHEBAIA M IH& Bl 14,760
Al 14,760
NAOISHE NEY - S+SHE MSH(ZEAY) 16,800 10,828 5,972
= 8,400
Al 8,400
307 ©12+0I & 16,800 10,828 5,972
= 8,400
Al 8,400
11T A SXAIE EX 16,800 10,828 5,972
O XNY0ots4dE HEE - Ex=33dE AFEHI 16,800
= 8,400
Al 8,400
KNEG0lSHEH EQRIHI(EXZALY) 5,412 5,874 N462
= 2,706
Al 2,706




2N
X ZH -
L= B

el

S X MY A D
otsEMe=X S8
RES0s HEFH

SA - FE - BI(EA) - NRAY - By 0l b SSa DS
307 21201 A 5,412 5,874 AN 462
= 2,706
Al 2,706
11T MISXASEX 5,412 5,874 AN 462
O XNY0tsdH EQ23 5,412
= 2,706
Al 2,706
OFAEsdY XNAOtSHHXJ(EXZAY) 7,800 7,200 600
Al 7,800
307 glztol & 7,800 7,200 600
Al 7,800
11T M3 SXAISEEX 7,800 7,200 600
O AEsEY XNG0tsHEH X
650,000 » 10H2 = 123 7,800
Al 7,800
NEOotsdE HMASEXE(EZAY) 716 680 36
Al 716
307 glztol & 716 680 36
Al 716
10 A SXAEHE2SEHIEX 716 680 36
O XNYotsSHE MR
179,000 * 404 & 716
Al 716
ANA0otsdEH IPTV 5,856 8,600 N2,744
S2Y 29l N (EZAMY)
Al 5,856
307 21201 & 5,856 8,600 A2, 744
Al 5,856
11 AL S RAEE = 5,856 8,600 A2, 744
OXYotsdH IPTVERY 224 X& 5,856
— gl & 50,000 » 12&8 * 4004 2,400
Al 2,400
— W 32,000 = 108 3,456
Al 3,456
KNSEotSHE AR ZH (BEAY) 400 400 0
Al 400
307 BI2t0| & 400 400 0
Al 400
11T M SRASEEX 400 400 0
O X90otsdH ALK& 100,000 * 44 A& 400
Al 400
NotsSHE HHEH (EXALY) 908 776 132
Al 908
307 21240 & 908 776 132
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L= B

el

S X MY A D
otsEMe=X S8
RES0s HEFH

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
Al 908
10 Al SXAIEEE2IHI X 908 776 132
O XNY0tsHE YWHtety| 227,000 * 404 A~ 908
Al 908
KNE0lsSHE 2¢2tosts4+2H(EXAY) 2,000 2,000 0
Al 2,000
307 212t0| & 2,000 2,000 0
Al 2,000
11T A EXAIEEX 2,000 2,000 0
O XNY0ots4dE 2etelsts 42l
250,000 » 84 2,000
Al 2,000
A RE S (EXTAIY) 125,280 125,280 0
Al 125,280
301 dBEtE A= 125,280 125,280 0
Al 125,280
01 A B & A 4352 125,280 125,280 0
O JEfe ¥ 120,000 = 74¥ * 12& 106,560
Al 106,560
O 8s0ts ¥z
120,000 = 13¥ * 12& 18,720
Al 18,720
QUANSUFS LS (EXAIY) 70,000 70,000 0
= 49,000
Al 21,000
301 Bt A= 70,000 70,000 0
= 49,000
Al 21,000
01 MBI BEEESG2 70,000 70,000 0
O 22d0ts =X 70,000
= 49,000
Al 21,000
QAL (EEZAY) 135,383 135,383 0
= 94,768
Al 40,615
307 212t0| & 135,383 135,383 0
= 94,768
Al 40,615
11 A SAAEE X 135,383 135,383 0
O gedrrz & 135,383
= 94,768
Al 40,615
OlS 2L XNAHI(EEAIY) 60,194 54,316 5,878
= 42 136
Al 18,058




fAMd: SXMEIAD
P OtSEM =R

x| 2 =x
o T (==Y iy
O RPS0ts AESY

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
301 L2 A= 60,194 54,316 5,878
= 42,136
Al 18,058
01 ALl EE E 563 60,194 54,316 5,878
O OtsZ<XI&AE 60,194
= 42,136
Al 18,058
HASEE OlSS MM (BEZAY) 327,051 448,700 A 121,649
Al 255,274
- 7,777
301 L2 A F 327,051 448,700 A 121,649
Al 255,274
- 7,777
01 MEIBEE 253 327,051 448,700 A 121,649
O gg.¢s8=s 0ts S 287,107
Al 215,330
- 7,777
O &E.2,35 2208 =4KE 39,944
Al 39,944
ot 22ots Y XA (BEXAY) 10,800 10,800 0
Al 10,800
301 L2 A F 10,800 10,800 0
Al 10,800
01 MEIBEE 2053 10,800 10,800 0
O 20t YU0tS Y82+ X2
100,000 » 99 * 128 10,800
Al 10,800
SYABENY(BEMY) 300,000 300,000 0
= 300,000
101 124 bl 111,760 84,720 27,040
= 111,760
4 D12t Z2XHEES 111,760 84,720 27,040
O SEAEE M2QRAAHH(4HEE Z&)
1,850,000 = 128 = 4% 88,800
= 88,800
O EX"E=z 1,600,000 * 42 6,400
= 6,400
O M2t 8,500 * 20AI2t = 128 = 49 8,160
= 8,160
O 2 20| 100,000 » 4H » 123 4,800
= 4,800
O =U 20l 200,000 » 6% * 33l 3,600
= 3,600
201 LBH2d| 163,740 150,780 12,960
= 163,740




fAMd: SXMEIAD

HE: OlSZHU=R B
tel: RES0ts AEsL (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
01 At 22l 157,320 144,360 12,960
O CEAHEHdH 299H| 14,060
= 14,060
O XN%As g8 S 8,000
= 8,000
O fIgun=st| 200,000 » 6% * 23] 2,400
= 2,400
O slo==¢ 70,000 * 6H = 43| 1,680
= 1,680
O SEIBAAE KX2eldl 700,000 » 13 700
=2 700
O Z20d 22l 127,960
= 127,960
O AASEHI 7,000 * 6F * 54 x 12 2,520
= 2,520
02 =24l 6,420 6,420 0
O 3&22= £ HMA 250,000 = 128 3,000
= 3,000
O AIEZH |Xitl 1,500
= 1,500
O &KX 22l 160,000 * 12& 1,920
= 1,920
203 YR =&l 1,000 1,000 0
= 1,000
03 AIHF=XH R =AH| 1,000 1,000 0
O EHAEBEAY 23 2tg3l 200,000 * 53 1,000
= 1,000
301 YU B A 500 500 0
= 500
09 AL HI B A S 500 500 0
O TESALA SHAE O 10,000 * 50 500
= 500
307 gl2tol & 15,000 55,000 A 40,000
= 15,000
11T ALS S XAEE = 15,000 55,000 A 40,000
O =8J&a T2y 2d X 15,000
= 15,000
401 Al HIZ 201 8] 3,000 3,000 0
= 3,000
01 A& HI 3,000 3,000 0
O EEAHEHH AMERX 3,000
= 3,000
405 Xt&tFE SHI 5,000 5,000 0
= 5,000




fAMd: SXMEIAD

3 s =X &
Sel: RE50tS AXSY CER-ED
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
01 AL 2B F SHI 5,000 5,000 0
O EYAEEHMH HIS ! 5,000
= 5,000
oelol =0l &blzel 5,000 5,000 0
401 Al HI L2 THHI 5,000 5,000 0
01 Al &bl 5,000 5,000 0
O HE0ol=0lH 1A B 2 X122 5,000
SHOR QI MEotA X & 8,107,297 5,876,674 2,230,623
= 4,824,682
Al 3,229,645
- 52,970
Zojel E XA 27,270 8,440 18,830
201 LEt2 Y| 7,440 6,440 1,000
01 At 22l Yl 6,440 6,440 0
O 1. g8l 3,920
—gaN3I| Sgta 35,000 = 12& 420
—33EY == 100,000 * 5A| 2t 500
— A XS X EX 1,000 * 1,0000H 1,000
— & L AAT S EES AN
500,000 » 4= 2,000
O 3. 2g82Y 2,520
—ZOCESXA (=3 XA, 0120 H) Ao
A3 =4 70,000 *» 398 * 12& 2,520
02 3524l 1,000 0 1,000
O 3. A& &8l SXYl 1,000
—dSEMH =558 A2
200,000 * 5CH 1,000
301 dEtE A= 2,000 2,000 0
09 HAIAH EA=S 2,000 2,000 0
O Zoferl Mot 12 X E &AL 2,000
307 212t01 & 14,000 0 14,000
03 AN EESIHEX 4,100 0 4,100
O =g Zoas 288 XNA 4,100
11 A SAAEE X 9,900 0 9,900
O Hofeigdasdgst A& 9,900
401 Al HI L 2T 1,830 0 1,830
01 A&l 1,830 0 1,830
O 2ZJ|2(=SF0HH &) BHEXE & 1,830
—SIEAY HIEXT 10,000 = 4504 450
—AIRAY EXNEXE 20,000 = 4504 900
— NGB Y240 EXEXE 8,000 » 604 480




2N
X ZH -
L= B

el

S KA BIA D
OsF=N EA
HOHQ MEOIHIR

= O

i

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
405 Ko SHI 2,000 0 2,000
01 JHAE =2 Z F S H 2,000 0 2,000
O S8 =558 2,000,000 * 1CH 2,000
SOHEE (II=)(EZALY) 281,157 276,721 4,436
= 196,810
Al 84,347
301 dEtE A= 281,157 276,721 4,436
= 196,810
Al 84,347
01 AL B & A %352 281,157 276,721 4,436
O M= 0Ix) 281,157
= 196,810
Al 84,347
NS (AN (EZAZ) 252,689 190,298 62,391
= 176,882
Al 75,807
301 Bt A= 252,689 190,298 62,391
= 176,882
Al 75,807
01 M BEEE2G2 252,689 190,298 62,391
O ZM= (A S) 252,689
= 176,882
Al 75,807
OO THESS(ABIEZAIY) 143,000 143,000 0
Al 143,000
301 et A= 143,000 143,000 0
Al 143,000
01 MSIEEAE G2 143,000 143,000 0]
O &ofe Med 143,000
Al 143,000
HOfIAS(EXZALY) 3,072,310 1,489,620 1,582,690
= 2,185,764
Al 886,546
301 dBEtE A= 3,072,310 1,489,620 1,582,690
= 2,185,764
Al 886,546
01 A E & X 435 2 3,072,310 1,489,620 1,582,690
O &oe 3= 3,072,310
= 2,185,764
Al 886,546
HONQS =R (BFAY) 4,160 2,424 1,736
= 2,080
Al 2,080
301 Bt A= 4,160 2,424 1,736




fAMd: SXMEIAD

g ofsEMee=X s

CHe|: ZOHOl MEOLH X (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 2,080
Al 2,080
01 Al B & X 26 2 4,160 2,424 1,736
O &doessE &ed| 4,160
— 2 AHHl R 1,660
2 830
Al 830
— SEXGH X 2,500
= 1,250
Al 1,250
ZHOHQIO S HI KK (EXALY) 84,500 170,000 A 85,500
= 67,600
Al 16,900
301 et A= 84,500 170,000 A 85,500
= 67,600
Al 16,900
01 Al E& A 252 84,500 170,000 A 85,500
O Zofele2H| X & 84,500
= 67,600
Al 16,900
ZOHQIRA S Y K2 (2FAL) 2,500 4,460 A 1,960
= 2,000
Al 500
301 et A= 2,500 4,460 A 1,960
= 2,000
Al 500
01 Al B & A 462 2,500 4,460 A 1,960
O ZOofeI XA &HHl X & 2,500
= 2,000
Al 500
MO MEEXINP NE(EXAY) 7,500 8,500 A 1,000
= 6,000
5 1,500
301 YA 7,500 8,500 A1,000
= 6,000
5 1,500
01 Al B & X 262 7,500 8,500 A 1,000
O &0 MEEXJI32 e 7,500
= 6,000
- 1,500
HAXMWOIS Q2T 2 =X (EXZAY) 3,000 3,000 0
Al 3,000
301 LBt A= 3,000 3,000 0
Al 3,000
01 AISIE & A %52 3,000 3,000 0




2N
X ZH -
L= B

el

S KA BIA D
OsF=N EA
HOHQ MEOIHIR

= O

i

SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
SRR EEEEE N EE S ELE
3,000,000 » 1H 3,000
Al 3,000
ZOoHel A SROAY(EXAIY) 191,892 191,892 0
= 95,946
Al 95,946
301 et A= 191,892 191,892 0
- 95,946
Al 95,946
01 MBI EEAE G2 191,892 191,892 0
O &l #HE =2L0IAS 191,892
—olAHl ¥ 48 E S 191,892
= 95,946
Al 95,946
ZofeI2 XN LN (BERALY) 100,224 100,224 0
= 50,112
Al 50,112
301 LBt A= 100,224 100,224 0
= 50,112
Al 50,112
01 MBI BEESG2 100,224 100,224 0
O &= XL Xel X 100,224
— Ol d] 273,000 = 299¥ » 12& 95,004
= 47,502
Al 47,502
— 29| 180,000 » 29Y¥ 5,220
= 2,610
Al 2,610
SNSRI (BEAL) 2,580,000 2,150,000 430,000
= 1,806,000
Al 774,000
307 QI2t01 ™ 2,580,000 2,150,000 430,000
= 1,806,000
Al 774,000
05 It E = 2,580,000 2,150,000 430,000
O HHeI2SX3AANY 2,580,000
= 1,806,000
Al 774,000
HOHQIE SR AL (AIXHMEINX ALY ) 136,458 86,357 50,101
Al 136,458
307 212t0| & 136,458 86,357 50,101
Al 136,458
05 QI2tRE 2 136,458 86,357 50,101
O B 2sXAS (AMIHAZIIXALE) 136,458
Al 136,458
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fAMd: SXMEIAD

Hu: OlSZOfI=ST BT
ol FONQl MEOIEH X & (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
EZTHC ST MEIA AL (BEZALY) 62,940 0 62,940
= 62,940
307 2iz2to| A 62,940 0 62,940
= 62,940
11T AISIEXAIE EX 62,940 0 62,940
O oo S=Lee AIHAIY 62,940
= 62,940
SSTHEMBIA B A (EXZALY) 233,280 211,680 21,600
= 163,296
Al 69,984
307 QI2t0| ™ 233,280 211,680 21,600
= 163,296
Al 69,984
05 QIZtREZ 233,280 211,680 21,600
O YEHEANHA HIRH AFY 233,280
= 163,296
Al 69,984
AU HRHAL(EXAY) 2,400 2,400 0
= 1,680
Al 720
307 212t0| & 2,400 2,400 0
= 1,680
Al 720
05 QIZ2tR EF 2 2,400 2,400 0
O AL X HRH™HAYE
200,000 * 18 = 12& 2,400
= 1,680
Al 720
SHSIHO B2 AME XM (EXAY) 5,760 4,800 960
= 4,032
Al 1,728
307 212t0| & 5,760 4,800 960
= 4,032
Al 1,728
05 QIZ2tE 2 5,760 4,800 960
O g2 &ie 22 Aejadg N
160,000 » 6 » 6E 5,760
= 4,032
Al 1,728
YIS Ast HESAHQ X AIL(EXALY) 1,800 2,800 A 1,000
2 1,440
Al 360
301 et A= 1,800 2,800 A 1,000
2 1,440
Al 360




fAMd: SXMEIAD

g ofsEMee=X s

ol MOHY MEBOEI CER-ED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
01 MEIBEE 263 1,800 2,800 21,000
O 4Es2 AF HIYE X2
300,000 » 2% * 13 600
= 480
Al 120
O d48Fd HlA XA 1,200
= 960
Al 240
OIS AEI SR AA (EXZAL) 3,000 4,000 21,000
= 2,100
Al 900
301 L2 Az 3,000 4,000 21,000
= 2,100
Al 900
01 Al EE H =06l = 3,000 4,000 A 1,000
O HEZEe S4HE XA
1,000,000 * 3% 3,000
= 2,100
Al 900
oo ZSHEIE 2 N2 (BEAMY) 232,833 162,434 70,399
Al 232,833
307 21201 A 232,833 162,434 70,399
Al 232,833
10 ALSISXAIEEE2IHEX 232,833 162,434 70,399
O ZOHo SSMEIE lAd(501A) 172,833
Al 172,833
O HoHe SsHEIE 29| 60,000
Al 60,000
ZOjOl FAESAM 2 XNV (BZAY) 363,293 363,293 0
Al 363,293
307 2I2t0l A 363,293 363,293 0
Al 363,293
10 AL SXAIEEE2EHEX 363,293 363,293 0
O ool =2tESAIE 212 H| (5 A) 315,293
Al 315,293
O Zojel =2AESAE 23| 48,000
Al 48,000
497 $SSAMEH 29 NV (BEANY) 123,471 123,471 0
Al 123,471
307 glz2tol & 123,471 123,471 0
Al 123,471
10 M ZXNANEHI2IHE=X 123,471 123,471 0
O =g+ =339 dH At 111,471
Al 111,471
O =83 =39 dH 24| 12,000
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SHT =2XMHIAD
HE: OlSZHU=R B
SRl MO MEOIEI L

= O

i

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| Al 12,000
ZOHC HNATMEBAE 2Y (BT AY) 147,660 147,660 0
Al 147,660
307 glz2tol & 147,660 147,660 0
Al 147,660
10 ALSISXAIEEE2EH EX 147,660 147,660 0
O HoHe MNATEAE K& 147,660
— S ALA 12| 117,070
Al 117,070
— 2ol 2l 15,590
Al 15,590
— MOt O0H QI =AM 15,000
Al 15,000
ZojoX g2 AAE XJA(BXZAY) 20,000 20,000 0
Al 20,000
307 21201 A 20,000 20,000 0
Al 20,000
11T ALS S RAEE = 20,000 20,000 0
O ZoeXgge22agd N 20,000
Al 20,000
S=F 520t 29 24,200 9,200 15,000
201 L2l 9,200 9,200 0
02 33224l 9,200 9,200 0
O1. 3323 % HA 5,800
—&Jl=z 300,000 = 12& 3,600
-2 100,000 * 12& 1,200
-JIEes=23(E8s S) 1,000,000 1,000
O 3. A& ZHlsXHl 3,400
—AN&E=2S | 1,000,000 1,000
— RoZHAAE 2HHI
100,000 » 128 * 23 2,400
401 AIEHI L 2CHEI 15,000 0 15,000
01 A& Hl 15,000 0 15,000
O Zfe 2EHE =5 15,000,000 * 14 15,000
25X 24,015,816 24,117,658 A 101,842
= 14,197,253
Al 8,070,959
- 1,747,604
R0 XJZ3t 24,015,816 24,117,658 A 101,842
= 14,197,253
Al 8,070,959
- 1,747,604
oelold 22X 69,603 53,533 16,070
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fAMd: SXMEIAD

o 2R

& IR0 XS st (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 L2l 1,333 1,333 0
01 At 22l 1,333 1,333 0
O 1. Let==ZH| 1,333
— 200y £ WA EEIH ME S
37,000 * 9H 333
- ESFMANL FHSE 7Y
100,000 * 23 200
~ZYREY SAPDUET H2XA
800,000 * 12/ 800
307 21201 A 62,270 46,200 16,070
10 ALSISXAIEEE2FHEX 46,770 33,700 13,070
O alold «Hgdl XI& 34,200
— 802 Ol& Al 500,000 * 109H & 5,000
— 40Q! 0l&~80Q1 OI18t Al&
400,000 * 3100 A& 12,400
— 210! 0l &h~40Q1 018t Al&
350,000 * 2404 A& 8,400
— 202! Olat Al& 300,000 » 287H A& 8,400
O ofgold Hdl X 12,570
— 802! Ol& Al 200,000 * 109H A& 2,000
— 409! 0l&~80Q1 012t Al&
150,000 * 310H 2 4,650
— 212! 0l &~40Q1 012t Al
130,000 * 2404 & 3,120
— 202! Olat Ald 100,000 * 287H A 2,800
11T MISRASEX 15,500 12,500 3,000
O oeold 2% A3s 2,000,000 = 12/ 2,000
O felold Oot=0tetE sl 9,000,000 * 13 9,000
O 0l ZALR & ==t 10,000 = 4509 4,500
308 XtXIEHH SOl A 6,000 6,000 0
08 I 20UEtE=x 6,000 6,000 0
O MESRX& bl NI 300,000 * 2000 2 6,000
OIRI0IE Sl (AHIEEAY) 578,200 521,280 56,920
Al 578,200
307 gl2tol & 578,200 521,280 56,920
Al 578,200
10 AL SXNAIEEE2EH EX 578,200 521,280 56,920
O Oelold 2ZHI(AlBIAS) 578,200
—Z2NENHS0/E W Wy 12,600
Al 12,600
—FRXNJ0E0E I 8,800
Al 8,800
—0eolE d¥sts & st AHl X 36,000

_24_




fAMd: SXMEIAD

o 2R

el Es0t N2 s (9 ® =)
= - = s
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
Al 36,000
— Q2 JIE0el0ld E|FUA SX+E 368,000
Al 368,000
—EIIHASOE0E ESFUA H3+E 80,000
Al 80,000
—HHEROOEO0IE ESUAMN E22E 42,400
Al 42,400
— o2t 2018 22ASMHI A 400
Al 400
—ZR0IXN20E0E HENLSSUANES
2 X 30,000,000 30,000
Al 30,000
SSDEY AY (BXAY) 3,566,814 3,252,839 313,975
2 2,140,089
Al 998,708
- 428,017
307 glztol & 3,566,814 3,252,839 313,975
= 2,140,089
Al 998,708
- 428,017
10 AMASANANEEEHSEHES 3,566,814 3,252,839 313,975
O Esuid eyl 3,566,814
= 2,140,089
Al 998,708
- 428,017
QM 0l WIHBI X (EEAY) 37,622 26,411 11,21
= 22,573
Al 10,535
T 4,514
307 212t0 & 37,622 26,411 11,21
= 22,573
Al 10,535
T 4,514
M ASIMNSER 37,622 26,411 11,21
O 22t0i el 0l & W HHI X & 37,622
= 22,573
Al 10,535
- 4,514
OHElold MHE2HHI(2XAY) 4,800 4,800 0
= 2,880
Al 1,344
- 576
307 @lztol & 4,800 4,800 0
= 2,880
Al 1,344
- 576
10 AMASANANEEHSEHES 4,800 4,800 0
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2N
P ESXE

el

X ZH
S =

S X MY A D

R0 N2

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
O Z0otd=E oelold =gl
200,000 = 128 = 200 A 4,800
= 2,880
Al 1,344
- 576
R0t B2 N (BXAY) 10,580,000 11,951,240 A 1,371,240
= 7,935,000
Al 1,851,500
- 793,500
301 LetEa= 10,580,000 11,951,240 A 1,371,240
= 7,935,000
Al 1,851,500
- 793,500
01 MBI 2 X +0l= 10,580,000 11,951,240 A 1,371,240
O grot2=szs N& 10,580,000
= 7,935,000
Al 1,851,500
- 793,500
LY N (EXAY) 4,924,000 5,548,779 N6B24,779
=2 3,693,000
Al 861,700
T 369,300
301 et = 4,924,000 5,548,779 N624,779
=2 3,693,000
Al 861,700
- 369,300
01 AMBIEZH 0= 4,924,000 5,548,779 A624,779
O oelold ololsots Jtdeds+g A& 4,924,000
= 3,693,000
Al 861,700
- 369,300
BI3~5M FRltE ESS(EXAY) 3,578,560 2,277,736 1,300,824
Al 3,578,560
301 LetE o= 3,578,560 2,277,736 1,300,824
Al 3,578,560
01 MBIEZ X +dl= 3,578,560 2,277,736 1,300,824
O 2t3~5M Seltd 282 & 3,578,560
Al 3,578,560
HIZOHOL 2z B85 X (BEXZAMY) 2,250 6,720 N4,470
Al 1,980
T 270
301 LetEa = 2,250 6,720 AN4,470
Al 1,980
- 270
01 M3l 2 X 0= 2,250 6,720 N4,470
O HIEMOH = 252 X 2,250
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2N
X ZH -
L= B

el

S X MY A D
25X
R0 N2

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET

Al 1,980
T 270

=38 Helold 29 (BEZAY) 27,840 11,520 16,320
= 16,704
Al 7,795
T 3,341

307 glz2tol & 27,840 11,520 16,320
= 16,704
Al 7,795
T 3,341

10 ALSISXAIEEE2EH EX 27,840 11,520 16,320
O 338 ogold =249 27,840
= 16,704
Al 7,795
- 3,341

DAZREZENSE XA (BT AL 639,439 456,900 182,539
= 383,663
Al 179,043
- 76,733

307 21201 A 639,439 456,900 182,539
= 383,663
Al 179,043
- 76,733

11T M3 SXAISEEX 639,439 456,900 182,539
O DAIZREIMNE XA 639,439
= 383,663
Al 179,043
T 76,733

OLOIAEY REE22LIHE Y 2I(EEAY) 6,688 5,900 788
- 3,344
Al 1,594
- 1,750

201 LB-2d| 6,688 5,900 788
= 3,344
Al 1,594
- 1,750

01 At 2t 2l 6,688 5,900 788
O OtOIAIE 22 ZLIHEE 22| 6,688
= 3,344
Al 1,594
- 1,750

HEIIEEX 52 1,770,498 1,608,376 162,122
= 763,538
J| 700
Al 749,575
- 256,685

HEIEZ3H = 1,770,498 1,608,376 162,122
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D SN M AD
D HAE=EX

=
(=}
D oetEEE =

(palpal

Sl @e)
= - — SHE|
SN HH-S(BN) - MBAY - B e 2
= 763,538
| 700
Al 749,575
T 256,685
ZHMEL RYUI(EZALY) 140,090 132,892 7,198
=2 70,045
Al 70,045
307 glz2+ol & 140,090 132,892 7,198
2 70,045
Al 70,045
10 ALSISXAIEEE2EHEX 140,090 132,892 7,198
O d=Zd4ga 29| 70,045,000 * 200 A& 140,090
= 70,045
Al 70,045
SEZSTNA A2 HI (BT AR 1,000 1,000 0
| 700
Al 300
307 21201 A 1,000 1,000 0
| 700
Al 300
11T AL SXAEE = 1,000 1,000 0
O &4=ZdIloi it 2 =24l 1,000
| 700
Al 300
HEHMGL BAL SN (EZAY) 14,400 14,400 0
Al 14,400
307 glz2tol & 14,400 14,400 0
Al 14,400
10 MBI ZXNANEHI2IHES 14,400 14,400 0
O 4=HaYA SAK 2N+
150,000 » 8H » 12& 14,400
Al 14,400
A5 SREZIHE X 14,100 10,500 3,600
201 £Br2dH| 3,000 3,000 0
03 BAF2 I 3,000 3,000 0
O Mas 825 I4H 23AE
100,000 * 30¥ 3,000
301 getE a3 11,100 7,500 3,600
01 A3l EE H =56l = 11,100 7,500 3,600
O MNAS BR2IE HEHIAXRAZ
300,000 » 259 7,500
O BXIHE AMES X
5,000 » 12& * 609YH 3,600
SRS =AXNAL (EZALY) 3,550 3,790 2240
Al 3,550
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